
··x + 2µ ·x + ω2
0x = cωtc

··z + 2µ ·z + ω2
0z = ceiωt

no damping µ = 0 � P (λ) = λ
2

+ ω2
0

λ 6= ω0 � P (ωi) = ω2
0 − ω2 6= 0 �

t
ψ

0
=

c

P (ωi)
eiωt

< t
ψ

0
=

c

P (ωi)
ωtc =

cωtc

ω2
0− ω2

ω = ω0 � P (ωi) = ω2
0 − ω2 = 0 �

t
ψ

0
= t

c

2iω0

eω0t

< t
ψ

0
=

c

2ω0

t sin ω0 t � +∞

=
y + 4

−
y + 3y = e−x + x2 : ψ = Axe−x +Bx2 + Cx+D: A =

1

2
: B =

1

3
: C = −8

9
: D =

26

27

=
y + y = 8 cos 2x− 4 sin x

{
π/2y = −1
π/2

−
y = 0

y = −π cosx− 11

3
sin x− 8

3
cos 2x+ 2x cosx

=
y + 9y = x+ sin 3x: ψ = c1 cos 3x+ c2 sin 3x+

x

9
− x

6
cos 3x


